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import java.io.¥*;
public class StoreString ({

String line;

public static void main (String[] args)

throws IOException/{

BufferedReader kbd = new BufferedReader (
new InputStreamReader (System.in)) ;
ArrangeString arrangeString = new ArrangeString() ;

DF—R—FhLXFIEAN

while ((line=kbd.readLine()) '=null
&& 'line.equals("")) {

} B HXFFIEE S

String output = arrangeString.inputString(line);
@B fE: HhXF] DITE
System.out.println (output) ; AF }'Cj$-§lj
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public class ArrangeString {
public String inputString(String inputString) {
return inputString;

}

}
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import junit.framework.TestCase;
public class ArrangeStringTest extends TestCase ({
public ArrangeStringTest (String arg0O) {

super (arg0) ;

}

public void testInputString() ({

ArrangeString as = new ArrangeString() ;

assertEquals ("abec",
assertEquals ("abced",

assertEquals ("abcedabced",

assertEquals ("",
assertEquals ("xyz",
assertEquals ("bingo!",
assertEquals ("bingo!abc",

as.
as.
as.
as.
.inputString("xyz")) ;
as.
.inputString("abc")) ;

as

as

inputString("abc")) ;
inputString("ed")) ;
inputString (" twice")) ;
inputString("clear")) ;

inputString("xyz")) ;
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Equals ("", as.
Equals ("xyz", as.
assertEquals ("bingo!", as.
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BT T 43— -Ea1—®[ZT. ArrangeStrigTest7 5 XD
testlnputString AV vk ZRmEL TLVEET,

Ei ArraneeStrin »

import junit.framework.TestCaze;

FEs
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#
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Sk
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#

public class ArrangeStringTest extends TestCasze |

Sk

# Constructaor for ArrangeitrinzTest.
by arzl

kS

public ArrangeStringTest(String arz0) {
superifargl);

public void testInputString() |
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# Constructor for ArrangedtringTest.
argl

ic ArrangeStringTest(String argl) {
zuper{arzl);

;&j testlnputString (ArrangeString Tes

public void testInputString() {
hrrangeString az = new Arranzeltring();

assertEquals("abe”, as.inputString(“abc”)):
¢ > assertEquals(”abce”, as.input3tring("ed”));
assertEquals("abcedaboed”, s, inputString("tnice’))
— B = assertEquals("", as.inputString(“clear”))
o — TZ W azsertEquals( xvz", as.inputString(“xvz2")):
’ ~— ? junit framework, Gomparison Failu aszertEquals(“binzo!”, as.inputString( xyz"1);
= at ArrangeString Test testhputs assertEquals("bingolabc”, as.inputString(”abc”));

E at sunreflect NativeMethod Ace
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assertEquals ("abec", as.inputString("abec")) ;
assertEquals ("abced", as.inputString("ed")) ;

B DEBEEZEE>TULVEWD T, HARLEEDITIIERBLET,
e XFIFEANTA-VIZ,. KEIZFT TR I TREFEL. £
nNzthv5,

B R D KDIZArrangeString 7 S A ZRELT. BETAMEL
x9, RIELTHES)
= ’

public class ArrangeString ({
private String storedString = "";
public String inputString(String inputString) {
storedString = storedString + inpu%gEEiEgi___

return StoredStringI{%ﬁbfﬁ(j{?ﬁuO)EEJ-%(:

| (RExXEiEEY| | ADXFAENTRT
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assertEquals ("abcedabced",
as. inputString(“twice"));

public idte tI tSt () {
brr St as ew ranzeStringi);
assertE I ( as.inputString( abc® ) 0;
z=sertEqualsi” as. inputStrins(“ed”ll:
ssertEquals("", as.inputString(”cl AR E
tEquaIs(”xyz”, as.inputString( )}
tEqual=l R as. inputStr =" R
= fa=||—2 :::E ) assertEquals(” olabc”, as.inputStrinst” b N
Lo it framemork. Compar izonF ailun

<abcedabced>L‘%ULTL\T’O)L~ 1
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B R D &LS(ZArrangeString7 S AEHREL T, twicetclear,
bingolZREH S EEZT BEYAHFT

public class ArrangeString {
private String storedString = "";
public String inputString(String inputString) {
if (inputString.equals ("twice")) {
storedString = storedString + storedString;
}else if (inputString.equals('"clear")) {
storedString = "";
}else if (inputString.equals (storedString)) {
storedString = "bingo!";
}else(
storedString = storedString + inputString;
}

return storedString;
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public void testInputString() { o ° ArranzeSt

EFiT 1 BIZ—08XEL0 brrangeString as = new drrangeStringi):

assertEquals{“abc”, as.inputStrin 9 testhputs
By | i aszertEquals{“abced”, as.inputstrin
2 s assertEquals{“abcedaboed”, as. inputStrin
azzertEquals(™", az.inputstrin
aszertEquals"xvz", as.input3trin
assertEquals{"binga!”, as.inputStrin
aszzertEquals{“"bingo'abc”, as.inputlitrin
!
= peEhL—2 =l v |l >
£ » Tk | Ant
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QRBRIFEXFEFHI M “clear” DEE|z, [twicetwice

“clear’ EARAINDEEIGEHM?
B X5A(AK(355MD7TA5 5 LTIE. D twicetwice” EH
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import junit.framework.TestCase;

public void testInputString() ({
ArrangeString as = new ArrangeString() ;
assertEquals ("abc", as.inputString("abc")) ;

: (FRHEg)

assertEquals ("bingo'!abc", as.inputString("abc")) ;
as.inputString("clear");
as.inputString("twi") ;as.inputString('"ce") ;
assertEquals ("bingo!", as.inputString("twice")) ;

}} \ﬁhn]
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BIREXFIEANXFEINEN twice”DIHZEIZ. REXFIZE
“bingo!” IZTFT NIFBULVERTIT Mo, RO KOIZFRELELT=,

public class ArrangeString {
private Strlng storedString = "";
public Strin inputString) {
if (inputString.equals ("twice") || _
storedString.equals ("twice")) { 1B 0 ]
storedString="bingo!";
f }else if(inpuEStriné.equals("twice")){
storedString = storedString + storedString;
}else if (inputString.equals('"clear")) {
storedString = "";
}else 1f(1nputStr1ng equals (storedString) ) {
storedString = "bingo!";
}else(
storedString = storedString + inputString;
}

return storedString;

q
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BEIAZAFDEIICHRELT. B
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ETANEITITHE.

Ay JUnit ;
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assertEquals("abcedabced"
as. 1nputStr1ng(“tw1ce"))

el
g testhputString (ArraneeString Test)

fI tNt eMethod Aoce
reflect NativeMethodfcoe

ﬁrran e3trin as new rran eStringl);
asse c”, i ing{“abc :
CE ingl“ed”)):
G utStrinegf“twice”)i;
putStringlclear”)):
2", putStringl xwz"));
bingo! put3tring(“xwz"));
tEq bingo'ab put3tring(“abc”)); w

testlhputStrine (ArrangeString

abcedabced bineo |

F18 = <J< abcedabced > t% AL TL \Vid!)) . <b|ng0'>7"’37": 01
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BASARFGDEREZRNIEZ. ROLSIZTATSLE

BEITNIEENC LT, BZICHIBIANADEET,

public class ArrangeString {

}

private String storedString = "";
public String inputString(String ineutString){

if (inputString.equals("twice") [ &&

storedString.equals ("twice")) { Lt::::{ ﬁ%IE ]
storedString="bingo!";

}else if (inputString.equals("twice")) {
storedString = storedString + storedString;

}else if (inputString.equals('"clear")) {
storedString = "";

}else 1f(1nputStr1ng equals (storedString) ) {
storedString = "bingo!";

}else(
storedString = storedString + inputString;

} gu Junit (ArraneeStringTest) B &, x

return storedString;
%ﬁ BTS—0 @ %R0
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t:
ing ‘a
Se if (inputString.equals(s
oredstr:.ng bingo!
~ N else{
IJ ’7{ 7 9 IJ /‘ 7 storedstr:.ng ore:
-’ }
return storedst.
}
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FIDERD

public class ArrangeString {
private String storedString = "";
public String inputString(String inputString) {

if (inputString.equals (" th ce ") &&
storedString.equals (" th Ce ")) {

storedString="bingo!";

}else if (inputString.equals (" th Ce ") {

storedString = storedString + storedString;
}lelse :Lf(J.nputStr:Lng equals ("clear")) {
storedString = ""
}lelse :Lf(J.nputStr:Lng equals (storedString)) {
storedString = "bingo!"

T Z(FOEYSEBEHEBHEFT

public class ArrangeString {

private static final String COMMAND CLEAR =

private static final String

public String :anutStrJ.ng(Str:Lng
EEEEN L]

"clear";
.

COMMAND REPEAT2

"twice";]

u Pllltisltlrll.llgl)i EEEEEEERN

t
if (inputString.equals @. e Ll L "o
un AEEER

storedString.equals (‘to..m.AND REPEA. 2.;){

EEEEEEEEEEEEN QN EEEEEEEEENEENEND

storedString=MESSAGE_COINCIDENT;
lllllllllllllllllllllllllllllb

}else if (inputString.equals ﬂom .RE.P.E.ATZJ )

storedString = storedString + storedString;
}lelse if 1nputStr:Lng equals (COMMAND CLEAR)) {

}else(

storedString = storedString + inputl K' 1 I
} |

return storedString;
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}

}

return storedString;
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public String input3tring(String inputString){

iflinputString.equalsl L
stored3tring="hbin :

lelse ifiinput3tri Qual =l
storedstring = edstri 3

lelse if{inpl_lltEttlw qua | IR (M)
storedstring = : "

lelse iflinput3tring.equalsl = -
stored3tring = “binga!l”: #EE .

..nlnu"""l-...:nn""}:

lelzel
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(5. 2. )R (XFIDELIE)

public class ArrangeString {

private static final String COMMAND REPEAT2 = "twice"; )
private static final String COMMAND CLEAR = '"clear";
private static final String MESSAGE COINCIDENT= "bingo!";

private String storedString = "";
public String inputString(String inputString) { ﬁgﬂﬂ
if (inputString.equals (GOMMAND,REPEAT2) && ’

storedString.equals (COMMAND, REPEATZ)) {
storedString=MESSAGE CQINGIDENT;

}else if (inputString.equals (COMMAND REPEATZ2) ) {

storedString = storedString + storedString;
}else if (inputString.equals (CQMMAND, .CLEAR) ) {
storedString = "";
}else if (inputString.equals (storedString)) {
storedString = MESSAGE CQINGIDENT;
}else{
storedString = storedString + inputString;
}

return storedString; —_
} o BEHS




BE]RAT1M K TlE. XZF5)]“bingo!” . “clear’ IZDULNTHE
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EBUED)I7OR) T WNFATZL, TAMEERRL
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el SREE

£~ Java — ArraneeStrine java — Eclipse Platform

=i TR D PEad AL THD
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ﬁ JUnit (BrrangesStringTest) / neest... Calculato... Calculato.. |BJ A » Tesztjava T o=
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o8 | el _ | S
ublic class ArranzeString {
private static final String EDHI‘.‘IAND_HEF‘EATE = * .
private static final String COMMAND _CLEAR = “clI @
private static final String I'.'IESSAGE _COINCIDENT
private String StnredStH{ng = ) 3 3
= e T Pl.lhll[: Strlng |nput8tr|ng Strlng |nputStr|ng w
= [EER -2 2 < » Piiwl [ 2
5 240 6 EB) g = v X
IR ELE '
£
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(5. 3)ARZEHRE

BRDEOIZHAFZERET H_EIZLET,

o T4 :

¢inputString -> inputMsg
estoredString -> storedMsqg
e *)wWF4 :inputString -> inputMsg
e )T R :ArrangeString -> ArrangeMsg
BEEEDBZRADERIIHEYEKRLDHYFEAN. N
BEeRTHBYPTVWEHALTH LI EETT,

|public class Arranges tring {

private static final String COMMAND REPEAT2 = "twice";
private static final String COMMAND CLEAR = '"clear";
private static final String MESSAGE_COINCIDENT= "bingo!";

private String S to redS tring ="";
public String inputString(String
inputString,.

if (inputString.equals (COMMAND REPEAT2) &&
storedString.equals (COMMAND REPEAT2) ) {

niic c100s AXYangeMsqg

private static final String COMMAND REPEAT2 = "twice";
private static final String COMMAND CLEAR = '"clear";
private static final String MESSAGE_COINCIDENT = "bingo!";

private String S to redMSg = "";
public String inputMsg(String inpu tMS g) {

if (inputMsg.equals (COMMAND REPEAT2) &&
stpredMsg.equals (COMMAND REPEAT2)) {
> g=MESSAGE_COINCIDENT;

}else if (inputString.equals (COMMAND REP!

storeds tring=MESSAGE_COINCIDENT ;
storedString = storedString + storeds

tMsg.equals (COMMAND REPEAT2)) {
oredMsg + storedMsg;
tMsg.equals (COMMAND CLEAR)) {

}else if (inputString.equals (COMMAND CLE.
storedString = "";

return storedString;

}

}

| == g =) g g

return storedMsg;

}
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BEHEEETHEHM(T
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IR (RATRE) —ZH—

Tl “storedString” ) Z&H ') v
VLT ARy T 7T A= a—S[UT7o5) T - [ZRID

public class ArrangeString {
private static final String COMMAND REPEATZ = “twice”;
private static final String COMMAND _CLEAR = “clear”;
private static final String MESSAGE COINCIDENT = “binga!”;

.':;.17?’;*3?&{;;%;*;5{55? | EEIU
if{input3tring 2l [ -
storedstrin a | = —
stored3trin e 1 F o
lelze ifi{inputString.e Sl AV s
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(5. 8. )FFR (BHIER) —V7AN—

public class ArrangeMsg {

private static final String COMMAND REPEAT2 = "twice";
private static final String COMMAND CLEAR = "clear";
private static final String MESSAGE COINCIDENT = "bingo!";

private String storedMsg = "";

public String inputMsg(String inputMsg) {

if (inputMsg.equals (COMMAND . REPEATZ) &&
storedMsg.equals (COMMAND REPEAT2) ) {
storedMsg=MESSAGE COINCIDENT;

}else 1f(1qputMsg.equals(COMMAND REPEAT2) ) {

storedMsg storedqu + storedMsg

}else 1f(1nputMsg equals (COMMAND CLEAR) ) {
storedMsg =" "1

Jelse if ({nputMsg. equals (storedisq)) |
storedMsg = MESSAGE COINCIDENT;

}else(

storedMsg = stQredMsg + .inputMsg.

}
return storedMsqg;
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(5. 3. 4)FFR (BEIERE) —UV7RADIN—

BAYYREDSRAEDBRIERIE. INZSRT HD5
ADONERIZHEELFET,

Beclispe Tld. ENH AN D RRETELBHENTE
TLTULVET (ArrangeMsgZ S5 AD 771 IL B EEHFR),

- -
StoreString7 5
/ A

ArrangeMsgZ75 X
(ArrangeMsg java)

main Ak

~
= 180

(SfareString iava)

=)

-
/

ArrangeStringTest” 5 A (StoreString.java)

inputMsg Ak

testlnputString Ak 2B E }

StoreString 7 oA D)
main AWk
(StoreStringjava)

EBOHEFE —q

}

public static void main(String[] args) throws IOException {
BufferedReader kbd =new BufferedReader (new

InputStreamReader (System.in)) ;

l ArrangeMsg|arrangeString = new ArrangeMsg() ;
String line;

while ((line=kbd.readLine()) !=null && 'line.equals("")) {
String output = arrangeStringl inputMsg(line) ;

}

System.out.println (output) ;




(5. 4. 1) EERITHEEEE N

BRDIEOEITZEEMLT JavaSE 5 COEMEHE FIZ
L\bhé—a? (“ ” “ ” “*” “ ” “%”) b\ﬁ’l-"‘tk
jlé*bf'iﬁA ]\ijC%ﬁll’Em ?EL’C@T??C%?‘J’EL
HIH5EIZLET,

public String inputMsg (String inputMsqg) {

if (inputMsg.equals (COMMAND REPEAT2) &&
storedMsqg. equals(COMMAND REPEAT2) ) {
storedMsg=MESSAGE COINCIDENT;

}else if (inputMsg. equals(COMMAND REPEAT2) ) {

: (R ER)

Telse if(inputMsg arAt (0)=="+" |

inputMsg.charAt (0)=="-" |

inputMsg.charAt (0)=="*"' |

inputMsg.charAt (0)=="/" |

inputMsg.charAt (0)=="'%") {

\Tglse{ ) )

|
|
: B |

storedMsg = storedMsg + inputMsg;
}

return storedMsg;

}
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BE[ATSARDENMESIE. OPOERL, [JavaEEETOD
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EHICHEoTWWAEWNZET,

BCNDEHFIEZA)yFELTHEL, EDLI7E
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BT A~ELTIL., ArrangeStringTest javal 2R ZE0L T
WEFT(RTAFGANDEEEEMKIYELREIZT AN EE
LTS ELFET . TAMIT7—XNTTHBL),

public void testInputString() {
ArrangeMsg as = new ArrangeMsg() ;

assertEquals ("abc", as.inputMsg("abc")) ;
; B |
assertEquals ("bingo!", as.inputMsg (" twice")) ]

[ assertEquals("bingglﬂi\__gas.inputMsg("+abc"));]

} AR BLOTEEINATVS ]
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(5. 4. 4)FER (AVyEDHH)

public String inputMsg (String inputMsg) {
if (inputMsg.equals (COMMAND REPEAT2) &&
storedMsg.equals (COMMAND REPEAT2) ) {
storedMsg=MESSAGE COINCIDENT;
}Jelse if (inputMsg.equals (COMMAND REPEAT2)){ | £ &
- (B ER)
}else if (startWithArithmeticOperator (inputMsqg))) {
}else(
storedMsg = storedMsg + inputMsg;

} [rinputMsgﬁ§§:TlﬁTT’\°D RATIREHDTLVS]

return storedMsg; ol LA
} A

/private boolean startWithArithmeticOperator N\
(String inputMsg) {

return inputMsg.charAt(0)=="'+"
inputMsg.charAt (0)=="-"
inputMsg.charAt (0)=="*"
inputMsg.charAt (0)=="'/"
inputMsg.charAt(0)=="'%"';
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(5. 6. 2)7O045S5LDOIEIE

public class ArrangeMsg ({
private static final String COMMAND REPEAT2 = "twice";
private static final String COMMAND CLEAR = "clear";
private static final String MESSAGE COINCIDENT = "bingo!";
private String storedMsg = "";
public String inputMsg (String inputMsgqg) {
if (inputMsg.equals (COMMAND REPEAT2)) {
if (storedMsg.equals (COMMAND REPEAT2)) {
storedMsg = MESSAGE COINCIDENT;
}else({
storedMsg = storedMsg + storedMsgqg;
}
}else if (inputMsg.equals (COMMAND CLEAR)) {
storedMsg = "";
}else if (inputMsg.equals (storedMsg)) {
storedMsg = MESSAGE COINCIDENT;
}else if (startWithArithmeticOperator (inputMsqg)) {

}else{ — _
esiiredMsg = storedMsg + inputMsg; _ha)ﬂ%:IE_Gs
} return storedMsg; T_X I\%n%‘j_:_‘ -

} OKZETRI FREIZIED,

private boolean startWithArithmeticOperator
(String inputMsg) ({
return inputMsg.charAt(0)=='+"' ||
iggsttﬁ:g 22::.2E zg; :: : ; : : : gu Junit (ArraneeStringTest) B &, x
inputMsg.charAt (0)=='/"' ||
inputMsg.charAt(0)=="%"; =T 14 0 ®IS—0 @‘XEE0
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(5. 8. 3):ERE3 InputExpT75X

import java.io.BufferedReader;
import java.io.IOException;
import java.io.InputStreamReader;
public class InputExp ({
public static void main(String[] args)
throws IOException{
BufferedReader kbd = new BufferedReader (
new InputStreamReader (System.in)) ;
CalcExp ce = new CalcExp() ;
String line;
while ((line=kbd.readLine()) !'=null
&& 'line.equals("")) {
String output = ce.inputExp (line)
System.out.println (output) ;
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